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APFC (EPFO) EXAM 2012 QUESTION PAPER & ANSWER KEY

1 i mduflcmdhmﬂcrdeM-
1. lflﬂ%ufl’=3ﬁ%0fﬂ}#gof&mm 6. An iron

length is drawn into & wire of 18 m length
P:Q:Ris: with uniform t'ljni:knms..The thickness of (f
(@ 2: 3'.(1 16 the wire woul : o\"Q'
. B N
© i&Q?Ils 18 @ 3 &
n{ﬂg\b :10: 18 o°
-oé\ %5 1 J._ em .\\6@4
<A tree increases annually by '3'“‘ of ®) 13 &
N e Bed i its height after
1. What will be its height i
& ?:fimmwmmhssh? (<) Em
(a) 72 cm : \
(b) 74 cm d) —=cm
&) $1 cm @ 12
(d) 85 em in travels at a uniform
7. A-S0 m long train
3. m,ﬁuof:mhﬁl&“ﬂ"'.ﬁ""" Qg&;edgf'ﬂ km/hour. It passes non-stop
HL = 75 m and LG = 80 m. What is the Sglong the 600 m platform of a wayside
area of this triangle ? .(\&q& station. What is the elapsed time for lhtpo.\
(a) 2100 m’ 5 train to entirely clear the platform ?¢;°°Q
N Q
ot g et
widy 2280 m? & (b) 31 seconds o
- ® S
4. Three sets of data on comparable situations (c) 32 seconds (&..\\
are available as under : = \_Ad) 33 seconds *
Mean | Standard
Bcku| Mo 8 o 8. Train A is 75 m long and travels ;‘ »
No. | data | Value | Deviation uniform speed of Sm -g:n is
6 and traveis at a un speed
L bed {98 : iy ?k%m in the direction opposite
& of 3 ; naZ
2 212 7 12 to that of Train A. If these trains
: crossing ol a double-frack stretch, what
& i 2 4 is the Etmc taken for the two trains to
¥ all the data selsbctoilnc‘thﬂf the fully clear each other ?
&’\\b?.} 7-‘24 S : (a)10 seconds R
> 5 ¢
@ 308 Sos o
) 808 & © 7.2 seconds <
). 39 S (d) 6.6 seconds g
. * \O
S A train travels at a certain average speed, i
for a distance of 63 km, Therealfier 1t 00 9. Biome, largest recognizallé mblﬂi:
ndimmeefﬂkmﬂmmwiwpud of animals and plantsdn the Earth,
of & km/hour more than the original : controlled mainly by :
Total time taken to complete the journcy i : S
is 3 hours. What is the original average (a) Biological activity
Bl () Landforms
42 km/hour (c) Climate
(c) 48 km/hour (d) Soil
(d) 54 km/hour 5 (Contd.)
frfrhr
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1

. SR P 20%=Q M 30% =R ™ —, 6 A
S L 14 F Y
a e LULEY
() 3:3:16 mm?m mhmﬁ&é
(c) W 15:18 | &
{:ng,oﬁs: 10 : 18+ @ 5yem S
& 60

2 S ¥ i w1 ¥ o el w L LS )

N w81 o ¥ w 28
tﬂzﬁmmmﬁ:mmﬁﬂ (c) Lem
Aa) T2 em 15
(b) 74 cm 1
(c) 81 cm (d) Than
(d) 85 cm

3. fd GI{Laﬁ}'-ITIZGH-ﬁ ©
I-IL#TSmHﬂ‘“(LG=ﬂmhm&; ?QQﬁfﬁﬂmﬂ‘ﬁWHm&ﬂ
1 w # 7 & T wE ® uw W R ous o &
(@ 2100 m? Q\Qb At & sl 299 ® 600 m @Z‘&EF
Eb; ﬂggﬁ &° ﬂﬁ%g&ﬁmﬁgﬂﬁhq‘frﬁ&
c W T ® 98 ow urt ¥ arde
() 2280.w \s@'\ g fea B 7 = @fg\\

4. @ T vy gerefn RaR § @) 30 @%E N
LN = () er &

e (c) 32

<. ‘: AE W Fm (d) 33 fwz

o - ! UwEw W & oww oft @ tamdh b,

IJS.OIE 7 1.2 125 m @ 8 3 twmdt A & Ryl

& ot 81 3 @ Tonfyal el Rag anfes
qv ¥ 9T uF §v R w@ T Os- Lo O TR
a%e*mmmmﬂm? Wﬂﬂﬁﬂ?ﬂmw
o) 7ae TR N P wwT i oS
T 508 10 #we E
(d) 850 by 8 s &

5. ®ré Immdt feh Pyfree otme = & wa &\o‘? (e) lzm' \\Q>°Q
w63 km #1 ¢h su swh B w0 (d) 6.6 Z
w%mmgamanmzmw\ N
gﬂtlwtr;tﬂ'{ﬁmﬂigjﬁ g > wipeaw, W, qee: fsed Prafe

IiH'HﬂI 4
4{;;;33%1“'“““’ (@) ¥ afemm
42 kmAizr ~ T
(c) 48 km/Miz ::; kL
(d) 54 kmiZ1 v
@ T@
- (Contd.)
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10. Despite having huge coal reserve in our
country, why do we import millions of
tons of coal ?

1. It is.policy of Govi. of India to save
itsOwn coal reserve for future use
@hd import now from other countries

for present use.

@?‘f\ Most of the thermal plants in ouwr
O country are coal based and they are
A\ unable to get sufficient coal supply

& from our coal mines.

3.  Sicel plants require large quantities
of coking coal which we do not have,
coking coal is to be imported from
other countrics.

E.;) 1,2 u;d 3

) 2 and 3 only ” :

(c) 1 and 2 only l?r;QSS’tam:m (m :
(d) 1 and 3 only &,b%o

11. For calculating Body Mass Index (BMI},?}OQ\Q 8 0

weight of the person (in kg) is divid:d\\gg‘
the : )
() Square of the weight (in kg)<
(b) Square of the height (in meters)
(c) Square root of the height (in meters)
(d) Vitamins intake
Directions :—
Each of the next Four (04) items consists
of two statements, one labeled as the
‘Statemeq? (1)’ and the other as
‘Statemét (11)°. You are to examine
thesgchwo statements carefully and sclect
the®answers to these items using the
\Podes given below :
& Codes :
(a) Both Statement (1) and Statement
(1) are individually true and

12. Statement (1) :

Statement (1) :

14. Statement (I) :

Staternemt (11) :

. .\Q
S
&°°
<)
&

Statement (I1) is the correct \OQ\Q

<
eA

explanation of Statement (I) X
Both Statement (1) and St:u-‘gp\}
(1) are individually true Hut
Statement (11) is NOT the correct
explanation of Statement (I)
Statement (I} is true but Statement
(11) is false

Statement (I) is false but Statement
(1K) is true

(b)

(c)
(d)

4

15. Swatement (I) :

Statement (II) :

e i

Industrial relation is
currently nminﬂm.\Q
by the external markey

forces than the oover
play between emgloyers
and cmpluye@Q‘

N

The forcgd® of globa-
lizatioge® have -made
competition so impera-
tive that unions and their
tactics like stopping
productivity mo more
hald good.

Every State in India has
a High Court in its

(Stwte’s) territory. o

As per cunﬂitutiqd?Qn-f
India, cach $8tc is
provided to l';&cﬂ\c a High
Court. \b?ﬁ
&
The Directive Principles
of State Policy enshrined
im the constitution, aim
at providing the social
and economic base of a
genuine democracy.
The Directive Principles
arc merely directives
which the government
has 10 keep in mind whilg
framing policy and :Q?m
enforceable lbé*ﬁugh
courts. 8

<

In nrdq{\é‘?%n produce
clectrigl power from a
geothermal reservoir,
temperature above 180°
is required.

To drive steam turbines,
high temperature steam
is used.

(Contd.)
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s
it
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”ﬁigiﬁa
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»2%34
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1
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5
13
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227

14. waH (])

3

(b) =t wa (1) W wa (1) =
wa & g e (1), v () &
wh wdhwor wff ¥

[c}mg}mt,ﬁgmm] wa (1)
s )

(d) a1 (1) swe &, Py w97 (1)

wea ¥

5
L3 2 e

. admry W s gdg,

Priveesil ot ssfefdl o
& 4w ok yevr @S
mwmtﬁ&@ﬁo
uﬁm!ﬂﬁ'ﬂﬁlé&\(\ A

. Pvrardvoe @ @ 3

g wxta sPrard
a R R B s sy,
T a4 R osm oW
T B

. W W uelw T W

F (vea &) UG-8 <
A Fen =amayg R oj'

s # dR # g,

yelw T W O I

Wﬁm@\@%ﬂ 2

T GEL N g o

# #fift * FAvw g,
awofds s 1 AT
. affs aw WA
A W I @

. fify # Prawe o Prw

A ¥, AR s W
Afafafenn s@ "979
ar ¥ Tew B@ R S
e A o @0 R
T ¥ .\(\&@Q"

R
Q>O
: et i s @ Rga

vk SR Tt B R
180° | FUT T ATIHTA
yraveE ) o

. Wi TEEEA 1 9E

% fe e aoEa A
wg uge Bl B

(Cond.)
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16. Which onec of the following sets of  20. Which of the following can be threats 1o
the biodiversity of a geographical ugf‘*

industries were among first modern
1. Global warming

indv%hﬂ in India ? \

{ oy 2. Fragmentation of hlb-:llu &

;@o ca, Cotion and Sugar 3. Invasion of alien spcm@
0Q®{|,} Jute, Silk and Cotton 4. Promotion of wgmﬁ?mm

\\e& (c) Couton, Jute and Coal-Mines (@) 1,2 and3 only &
(b) 1,2 and 4 only

& (d) Sugar, Silk and Steel (c) 3 and 4 only
(d) 1,2,3and 4

17. The regional project by name ‘CASA-1000’
(Central Asia-South Asia-1000), funded 2. Vultures, which were very common in our

by World Bank, pertains to the field of : oSountryside a few years ago, are rarely

{I] Eradication of HIV AIDS Ko\)Q seen ﬂﬂ"l\l’ﬂl}"l This 1s attributed 1o one

(b) Roads and Buildings g Of the following : &

© Electricity éoé‘ (a) Destruction of their nesting nqto@‘?by

: “’“_ . ' thie e new invasive species S

(d) Eradication of illiteracy &&.'\\ (b) A drug used by cattle m for

treating their di Sitle
18 Pﬂr:&ldeﬂwuf ‘Janani Suraksha Yojana' (¢) Scarcity of food lv@&blc to them

gramme is 1o ; (d) A widespread, ptnutenl and fatal

I. Promote institutional deliveries discase amongst them

2. Provide monetary assistance to the
mother to meet the cost of delivery  22. Who won the Golden Boot Award in the
3 Fraw'd&‘\ for wage loss due to recently concluded UEFA Euro 2012 ?

Fl'ﬂsgﬁm}' and confinement (a) Femando Torres (Spain)
(8) 1 g 2 only (b) Mario Balotelli (lialy)
'fb}\o? and 3 only (¢) Cristiano Ronaldo (Portugal)
(\& 2 and 3 only (d) \!l:lﬂ'iﬂ Gomez {Gtﬂhﬁly] .
‘Q(d} 1, 2 and 3 & &
23, w‘ﬁichturr:he following sets of enmg‘;i&
19. *Kyoto Protocol’, an agreement si SR e &
various countrics, is associated :::d 7 e&\o (a) New Zealand, India, Z"“h%&“? and
(8) Intemational trade N\ s \6
= (b) Malaysia, Australi QN
(b) Deep sea oil and mineral exploration et 1
(c) Clean environment and climate (¢) India, Nepal, Sri Lanka and South
change Africa
(d) Building common food stock to save (d) France, Germany, Sweden and
human being from any natural disaster Switzerland
6 (Contd.)
o '
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® gdm, v ¥ wdyum sngfre g Preafifte ¥ & ed oo @ swer 8°
ilﬁ?'.\o 1. wHsdhu ama &
{n]-!\gl?mafl‘rm 2. saw w Res @q’%
Ab) ST, TR AT Fw 3. " wRS W e O°
W T, gzt Senw 4. wEER N e B

..\\bé{d} W=, ww st ~a) =W 1,23

& (b) #am 1,2 M7 4

17. R &% gro Ra-9ftwm defe st (¢) #am 3 a4
AmEE: ‘CASA-1000" (3z@ uftmearew @ 1,2 384
P-1000) Bk & & wafva 8 7
(a) HIVAIDS # =&+ 21, w0 =l of gt ewd A M@ w e

() "% Nt was ST WET ST G, S wTewE w-ma

-~ ﬁr—w .\(\&?’("S # Red 2 B zee Preaafee i‘EQSé"Q
[0) Figw ® ey S M memii &
Q.'\\bz (a) @ EHAEL @RI G0 mogaﬁ?-m
18 =t gowm ey wlew . &0 = o
[, SPEte qaw @ ae 31 o oW @ EW;WM@@LMWX
s B heduinch L
2. wgs & wd M yu v # R = (c) I7% f I9a= W w IWW
w wifs wswan Igwew wOA W (d) 3714 Frdar it wes dorh o
ware wom By wrn o Been

3. mﬁﬂrﬁmﬁhimﬂmﬁi
g 0 # Fvwm W vam w31 22, e @ ¥ €9 UEFA 70 2012 ¥ feed
7

4.;eggﬁﬁmz s gz wad han
(e | a3 (0) TR ZRE (89)/
& Fww 2 whr 3 () SRR W (veeh) o
@) 1,233 : (oF RReae Jted ()
| ORI L Ry
19/ Pt 3 g pensfa s e o iy, 0
Nl AR e B 7 S 23, Preffem ¥ @ 3/ B BN agew
(a) daToedty =WgK N #aq #@a ¥ 7 S
(b) T wPE dE AT WP AN ) =hds, W, R de aden
Ac) "o gyl s wawg oRad (b) v, sregfvar, Avedhfear sire arfe
(@) Pt ursfes s & s e #) (c) wreE, Aqe, e e o sie
A F A G @G-S T (@) wig, i, e N Razads
7 (Comd.)
oAl
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24. Match List-1 with List-ll and select the
comrect answer using the code given below

26. Why was Justice Dalveer Bhandari in the
news recently ?

the Jists : (a) He became member of UN Humﬁn
© Rights Council. «o
%ﬁ‘” _MH'H (b) He was clected to the ln:qﬁmlmml
TPerson) (Company) Court of Justice. &
g&s:m Jobs 1. Google (€) He became Director Ggferal of World
*B. Sheryl Sandberg 2. Apple Trade Organizatiog®

7 .

P C 1 p 3. Yal (d) g;A h;élme Smretary {:enﬂlal of
D. Ross Levinsohn 4. Faccbook “
Code : 27. Match List-I with List-ll and select the

A B C D correct answer using the code given below
the lists :
W2 L 9 3 S Listd List-Il
N Q‘@Q (Head) (Institution)
(@) 22 e Vs 3 é\(\&q’ A.Jim Yong Kim 1. President, 0<,°'
d 3 4 1 2 & W Bagh”
@ 5 B. Kamlesh Sharma 2. Secretaryg€iencral,
5 Cu-mgsﬁnwmllh
C. Chnstinc Lagarde 3.

25. Match List-l with List-Il and select the ﬁ*‘mml;‘ﬁm
mm::t answer using the code given below D. Catherine Day 4. Surﬂm'}*-(iemal
the lists : of the European

List-1 List-If Commission
(Book) (Author) Code :
A. Rahu] D{d\}\‘id : 1. Steye Waugh ol
S By 3 4 2°]
Tlmcig@s Steel and Nasser oY 4T 2R
Hussain =
3 2 &4 1
Bbﬁnmm 2. Greg Chappell M1 2 4 3
<. Sachin : A Hundred 3. Mike Atherton s o8
Hundreds Now 28, %dﬁ cultivator has about two ! “of
: _ ’ 5®° rain fed land without irrigation faalities.
D: Opening Up : . M- Knstwagwanny \0¢\° Which type of crops would obsg‘f:kc o
M!I' ﬂ“twy bée Eﬂ;w T 6@
Code : ‘Q@"\\ . Jowar \\
A'B C D D) 2. Cotton &
o) T AL i Polatoes
A S, TR JET: (@) 1,2, 3 and 4
.3 -4 4.2 (b) 1, 2 and 3 only
(c) 2 and 4 only
d 2 1 4 3
i (d) 1| and 3 only
"S“ (Comtd.)
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24, gf-1 W whn & gafw HfRe i
gl & N Ru sz w1 v =7 §H
FJET

26, mﬁﬂwmw\ﬂm
¥ W w7

P {a}iuunmﬁmt‘ﬂﬂt%@h;
gzm L] i
W iniieid oy b)) ¥ sl e m?m q
.t{'&«?ﬁdu’l‘m 1. 1o (c}ilﬁlwmmum\iuaﬂhm
& C ah 3. K (d}imc%mﬁ
D. wfa Afywl 4. Higw
1. p g 27, -l # g @ g AR e
r R @ AR Ry mz ® g v o
A B COD ;
)2 1 4 3 IC ¥ qe-ar
®3 1 4 2 & o @em o
©2 4 1 3 &5 AP A R ) s Fmga%
'y 471 2 \&“@ B. wa8w wisf lﬂmﬁagﬁ-ﬁm
\&@"\ C. ez andig IijmF
' fultr 3 4. v A
R R R T = ' IE'E"“
gl ® A2 Ry £z w1 o S W o
ik 8 A B CD
gl g
o) @ 3 8 2
S ® =gy
A‘%' 'ﬂ‘;ﬂm @3 2 4 1
: d 2 4 3
B.ﬁ@oﬁﬁﬁ e 2. in Auw 04
g.\%:mﬂ? .M W g Aefepe @ T R Rl @ g
FRRY o @ ¥ awi-ffw g
D. srafan s 4, #. Fomerh &%?lnﬁmm!ﬁmanﬁgrém
mm e\oQ\ m? éoé\(\
¥ : Q,.\\be 1. WA "\\e&“
A B C D & 2. 9w &
o) 3., 4.1 2 3. WO
4. wm
() 2 EE e
{{:} 3 1 4 .. {'Iﬂ 1.2.33“11
(b) ®=8 1, 2 7 3
Ad) 2 1 4 3 @ v 2 B
Ad) #uw | M3
9 (Contd.)
i i
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29. Match List-1 with List-Il and select the

correct answer using the code given below
the lists :

M.H- List-Il
A. E-@a Tiger Reserve |, Rajasthan
thnytr Tiger Reserve 2. Gujarat
g Sariska National Park 3. West Bengal
2 D. Wild Ass Sanctuary 4, Kerala

34. The word FTP stands for :
(a) File Transit Provision
(b) File Translate Protocol
(¢} File Transfer Provision
(d) File Transfer len-ml
6@
RAM stands for : N
(a) Random Access memunr

N
\q,(’o

35.

&
N Code : (b) Read Access Memory
A BUE D (¢) Random Attribute Memory
)2 i 4. 3 (d) Random Applicable Memory
| e B T RN
&) 2 8 F 3 36. Which of the following is also known as
@a v 4 & ohmnufmmpmm"
ooQ (a) Monitor
30. mT ;5! th&{o;lwms sastementsis & (b) Arithmetic Logic Unit {hLU) S,o'-@
O RISk b b e @o@ {:) Control Unit
(b) It is rich in potash. \\t’e () Qontenl g Lo (R J
(¢} It is rich in iron compounds. &
37. A rtechnigue in which da "1: written to
(d) It is derived from volcanic origin. two duplicate disks sigatltaneously, is
31. Gun metal is an alloy of called :
(a) Copper, Tin and Zinc (a) Mirroring
(b) Aluminium, Tin and Steel (b) Multiplexing
(¢) Copper, Steel and Zinc (¢) Duplicating
(d) Mtuninig&l. in and Zinc (d) Copying
32, If the
lubwcdnﬁjmr?t:f;fﬂ“ﬁ: 38. The term ‘e-Waste® refers 10 :
the wm is called * 4 {l} The files that are deleted and enter
() Semiconductor the * Waste-bin'* folder in a computer.
Criibacta {bj <The temporary files, folders, links cle
fr.:} S A i° that are rarcly used in a cumpu.ger
uperconduc st€) The electronic products s as
(d) Super semiconductor R % mobiles, PCs etc. that are. g
33. The material used for clectric fuse is an &\0 off after their uscful ﬁf%“’Q
alloy of tin and lead. This alloy :ll'.u.‘m,ll:l\\6 (d) A portal that uﬂ"crs\\&nlwi for
have : collecting l\nuuhold?mﬂe
(a) High specific resistance and Iuw
melting point. 39. CAD stands for :
(b) Low specific resistance and high (a) Computer Aided Design
melting point. (b) Computer Application in Design
(c) :::::'I nssp-;:ll; :: resistance and low {c) Coded Algorithm in Design
5 d udtd 1
(d) High specific resistance and high (9 Aenents Do,
melting point.
nl?rt (Cond.)
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n% ﬁ-nt e it 34 FTP wex fsws famg & 7
ﬂt{zwmﬂﬂﬁ (a) wE e yiEes a8
(b) w=A ZiEAT NTHA Sy
Qi,ﬁf qa (c) wA ZiEET W= )
;“@’i ":ﬁm im (d) 9 ZIEHT S JAQ}0¢\°
g‘?@uﬁmmm 3, sfees dme 35,mmmg:@-\\b
WD #w omie qqfet 4. %@ (a) Tew tww awmh S

cC D (c) Tem dfreger Awh
L e T ). o vt Al
) .2 A 1 -3
SN R T N 36 ﬁmmﬂarm%m? #® Ramn & w9
ig/';‘r'ﬂﬂ' ﬁ{ﬂ*'ﬂ;ihﬂh‘ﬁﬂﬁm-m &'b"é (a) wifex o
W wYq weu B 7
(a) u® gnu ﬂﬁﬂﬁ: ® \&@OQ ::); ﬂuﬁﬂ#fhm '{ﬁtm afre Ngg@i)
g qrzmw ] &
f::u:ﬁnd'rmﬁ et < {djhﬂm{ﬁrmﬁﬂ,
(dy s wremgeits ggm & s # o 37, ow ﬁﬂﬂmﬁ@\ﬁﬁﬁﬂﬂ
4 HH-H19 s 2, ¥ wwedt & ?
3. Aze fkae R 7 (a) Prafm
(2 “arg. A e s (b) wiEzAfEam
(b) weufafram, A v =@ t;] m{"“
(c) o, wenge N @
i) 'zagﬂal:g@u% fea st wea \_3::;:-: c-FTI (e-waste) st Fiffez wxan
32 R fRge e w7 &ga wRdwm ¢ i ot F
- :mﬁ‘tmﬁ&rm&ﬁﬂ 'Jmmwm@zﬂ] mﬁ
@)\mhm tb]&mmﬂmww
o) = L
ey shraras & TERM A w9 ¥ q,oo
) R wfawrs \Q\‘\b O s TeRR s
JJ.--Mtw{wiﬁwmmftnm\\& Froer Re g 8 \\e&“
ST Mg @ B Py A (o) a5 @ @ vt e dre @
thrgﬁ‘;ﬁ;‘qmmﬁﬁm #an? g WO
(b) Prer Rftre wRdwem O e e 39 CAD e R @ 7
FrT e o) weEr udw B
(©) Pre=r Rftre sfuss it P (b) wwer ufedw = fBwg
nTaAaE AT Wiy (c) FTT wamiter @ B
A{d) ﬁmmmmm (d) =3w Tddww fyama
o (ot
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40,

.\\

R
&

41.

Match List-1 with List-Il and select the
correct answer using the code given below
the lists :

Li.gssi List-Il
(Cunggéﬁulfﬂn) (Contribuior)
AJ il Welfare 1, Charles A Myers

ovement

ﬁ Human Relations 2. A.K. Rice
Thought

C. Concept of Third 3. Robert Owen
Force

D. Ahmedabad 4. Elton Mayo
Experiment

Code :

A =B CED

W2 1 4 3 &

R 1 45 2 éoQ\

(6)i2: W f 3 Na

[ 7 T Rt Ry U & 44,

Match List-l with List-1l and select the

correct answer using the code given below

the lists ;

Lise-] List-I1
rﬂoardrr.‘nmmmge,l (Chairperson)

A. First Haug{itl Com- 1. GK. Chadha
mission ¢ Labour, 45.
1969 &

B. Wage Board for 2. Ravindra
\ Journalists, Verma

2009

C. Sccond National 3. P.B. Gajendra-
Commission on gadkar
Labour, 2002

D.Index Review 4. GR. Majithia Q-.\\ 46.
Committee, 2000 &

Code

A B C+D

)3 a2

() Yitdom 2. 3

(£) 3G T4 )

@ 1 2" 4 3

12
ot

42. Which of the following is NOT covered

43.

by the Employees Provident Fund ;aﬂ"
Miscellaneous Provisions Act, IES%Q

(a) Pension

(b) Provident Fund

(¢) Deposit Linked [

(d) Injury Co-mpcnsﬂum;\

b\

Which of the following statements about

Workmen's Compensation Act, 1923 is
true ?

(a) It is not social security legislation.
(b) Its mame has been changed to the
Employee™s Compensation Act in 2009,
It provides maximum Enmpcnmm-n |
in the event of death. o
It does not provide mmpmmbq;?fur
occupational diseases.

Which of the following @mlalmns is
comprehensive social secyety legislation ?
(8) The Matemity Bentfit Act '
(b) The Employees State Insurance A:II
(c) The Employees Compensation Act
(d) The Employees Provident Funds and

Misccllancous Provisions Act !

What is the maximum limit of gratuity
payablc under the Payment of Gratuity
Act, 1972 7 [

(a) ¥ Lakhs rupees

[g;e ? 5 Lakhs rupees X
ffc} 10 Lakhs rupces &
* (d) 10.5 Lakhs rupees k>

AQ’

In which pan of the Indwgi\ onstilution,

Worker's participation in‘Management has |

been incorporated ? '

{(a) The Preamble

(b) The Fundamental Rights

(c) The Directive Principles of State
Policy

(d) None of the above

{Contd.)
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$

41.

;;nm q:m.ua g #f 2T gfd

# 949 FT §A IO

q_‘#n
wﬁhﬂm llnﬁltr,amf

..\bQB I'IIFI Rawe izl 2. u®. wew

,Q\.Q

C.ww sfe af 3. waf 3w
ord

D. sETATe R 4, wres A

Nl 4G B
) 2 Ty
Gy 1T g
175 W S e i \o
3 4 1 2 .\\bz
st \Q‘Q\’Q
1 H F-1L ¥ AR R e g
4 Ru ®mr 1 v w1 9@ I
b (L8 o
! il
ey

42. Frafofe ¥ W, wferd s B

w il Jwy s, lysztwfﬁ‘\
o R 7

Aa) 9 _\g&""
(b) ey PAfu @oQ
(c) ww-wwg o Nd

_(d) R ufer &

43. wie sRwr swPraes 1923 % ar A

Prefafrm % &Y=-w1 wus & 3 2
(a) We womfas oo Prarsr = @
(h}mmzmﬁnmm
7 o wiawr sPm B o
«O‘fc}ﬂﬂ*ﬁ#nmm

® IguE Hrm B
{d}waﬁaﬁﬁﬁmfﬂﬁi‘sm‘;ﬁm
¥ Igwy FH w

Ad) mﬂmmeuimu /

B. ¥
® B wugh I 45, Iwr den sfefrew, 1972 # adw ¥
009 IR sftmem @ v R 7 =
S we R 0. 3. Al wa- (.)\,Q‘s A T &
R TEHT 6&‘) 7.5 o Y &
Dm". o ) 10 @ vy - &
9 N mm%dﬂuﬁﬂﬁiﬂmﬁmnaﬂ
A B C D T W FEefer gafer @7
e (5 N R (a) FRferw
™y & 2 ) (b) o sieere
€€ 3 2 4 1 () tvu & fifa PRvs oo
- {lomd)
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47.

Which of the following i

g e owing is the earliest 10
(a) Prua Council of India

(b) Ugited News of India

(¢) MAM News Network

(d%jo\" Trust of India

%
48 Which of the following statements is trac

49.

50.

31.

> about Industrial Policy since 199) 2

(@) Only 5 industries related 10 securi
strategic and m&mmﬁ
require industrial [ }

(b) Anlnvmnrmedmﬁleanindlmid
entreprencur Memorandum,

(¢) There is no rescrvation of products
for production in small scale sectors.

(d) The number of industries reserved
for public sector has been enhanced.

The newly introduced rupce

:!I;n:l on F s:rmbol\\
a) Roman and Greck scri &
(®) Persian and Dravidian script

(¢) Roman and Devanagari scri

(d) Greck and Devanagari uﬁplp'

Which one of the followin ituti

g Institutions
m‘ﬁﬁT se¢t up by the Constitution of
(2) Union Public Servi issi
(b) Elmio@%nmmiui:: >
(c) Pl Commission
(d) UniSn Judiciary

Q\

The'M

shatma Gandhi National Rural
‘gﬂ:plnyml Guarantee Act {]'I-IGNRE;A}
waims at enhancing livelihood security in

. R
ige®
bQ/

52.

53.

55.

One of the following Government of Indg
programmes aims to help, build or lrpgh‘g:
dwelling units of below the povegy line
: ilies : o
a) National Sogj 3si

ocial é@%sulmce

me
(b) Jawahar Rozgar ‘l’qk\\;
(¢) Indira Awas Yojany

(d) Jawaharlal Nehru National Urban

Mission

The following provision, “P i
relection of

monuments and places and objects of
nAtional importance™ is g :

&8) Fundamental Rj

guumumun of India o
irective Principle of State Polich

:f the Constitution of India ®¢§°m
undamental Duty laid dows)

Constitution of India 4;)@ e

Presidential order in acodfdance wi

the Constitution of foffia S

(d)

The Seventh schedu i
of India contains Prl:??:;nﬂ;{'wﬂﬂﬂﬂxﬂf
(a) Scheduled Languages ‘
(b) Oaths and affirmations

(¢) Administration of Tribal areas

(d) Union, State, Concurrent Lists

The Mid-Day Meal Scheme

in I?ﬁ%& with the aim to - e

I. .Enhance enrol i &
< ment, retention

o0 Mafmw%ﬂdﬁl&

rural areas of India vidi :
one hundred - by providing at least Q\&’i Improve the nutritional nl@’i\ of
(@) Days of guaranteed employment in o , PRMATY school children  o°
 financial year 0 able aduits in the & - ImProve the habit of readilg among
i Information Technology sector, < rural households &
) Days of guaranteed am I 4. Encourage the use of Tiffin boxes
:}:I':::I:ctui ynr::;!dul! members among primary school children
hm‘ isehold. (@) 1 and 2
(c) ;luis t?' children of rural households (b) 1 and 4 ::1}:
one financial year.
(d) Employees for rural developmental ) 23 ey
schemes innﬁﬂmcinlym @ 1,2 and 4
14
et fr e (Contd.)

shlswmbrmc
Q&

Q&
\!
o

P
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.\\bz {a)
3 ?:'m $aq 5 IO W & N

47, Peiifen ¥ fa-a wdpem R gn 7 52, R wORTT W et A R e

(a) wreda ¥m ofise . o wdes b #
() TET W e w0 sfitardl % staw et & Pafa o @ S
{c) NAM wmrere dzas e i : €1
id}&é W T v (a) T wATA wEEET wdwn
R e AT It ot
, wmite v yfrofa mee

s & gawsa gd f
() B Privs @ s goft g 030 URN AEET B el it wma i
SRR w1 @ awesm T8 ¢ W W AXem,' o5 Juey T R
(c) mgam &) ¥ g @ B I () ww & whum g AAwn AW
w o waww wd @ SR
(d) weafre e ® Rro srfire o @ 9@ & e F e A A b
g ey &Q’i}maﬁmm i
(e gro | uE-wE
49. ¥ yw A me ey & : . ©
A “mﬁ“\&*\ (@) ol Wee ) apvon Y sy
(0 1 A7 Tnh BR & &
b) wich iy gfas ffy
&, e A gt B oo % T 7o g ek
50 Pr=fafte & @ ¥t s o wiw @ ®) W s ghem
© dlErT go e R of @ 7 (c) wvwfa & & g -
(@) ®9 #w fg \(d) ®w, Tww, el g -
(b) Prafos g
(c) WY (St . 55, oA svaw doren 1995 ¥ Rew gt
@) o ¥ e W ok
51 \mmmmma i mw*lﬁﬁgm
[a= (MGNRECA)} 1 3w, fraer 2 \{"i H;‘ l"ﬂ'_ R
Guea W, W B omsie ol 7 i ’m”m‘ R A A
qoor gt oW § 7 'ﬁmﬂgﬂr{m 7 .%Qéoo
@ T DA ¥ A 9 T Rad & 4w A oy
us el of ¥ w9 @ a9 o @ &° g wom oK
Hﬂwm ..\\be 4. wdm frowm R oweq) i\bﬁﬂ'i?
(b) wrdror ot ® wer weEw W oo S m*mﬁW'-ﬂ‘
Arfa ad ¥ w% & w5 o @ B fn) #77 | AT 2
1 TRNE Fagh)- e (b) % | My 4
(c) ww Refy =l & prdrwr ofare & &y c) #=® 2 33
w9 oF @ gl B vy (d) 1.280c4
(d) ww Frefte ad B wnley frers droemd
# MBu e & aw oF @ adfurd
*-Evt (Contd.)
I———
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56. The President of India s elected by the

members of an electoral college consisting
of elected members of :

39,

Match List-l with List-ll and select the
correct answer using the code given heluw
the lists :

1. Bog;éillm of Parliament  List-l hﬂaﬂ"
2. @e Legislative Assemblics of the (Commission) (Chaigferson)
\OQ States A. Sccond Adminis- \\Q?ijly Kelkar
\\63 Union Council of Ministers trative Ketouss %
& @) 1 oat Commission
n O
v B. Second Commis- 2. Justice M.N.
S sion on Centre. Venkatachalish
(c) 1and 2 State relations
(d) 2and 3 G Thirteenth Finance 3. Justice Madan
< g/ :
@Qéo"' Commission Mohan FI.ITI;:){E\I
$7. The responsibility of preparation of é\ob D. National Com- 4. M Vecrapps
electoral rolls in India rests with : & mission for the Moily 8"
(a) The Parliament \&@"\\ R'-"-'ifw of the @oé‘o
(b) The Local Administration :’“""F‘E of toe Q..\\6"“
tut &
(¢) The Election Commission 42 T <
e :
(d) The Rewurning Officer
A B C D
” y Sva @ 4 3 |1 2
58. At the time of bgSoming the Prime Minister
a5 21 1 &
of our mmg!?[ one :
(a) M bcnmmb:rul’nncafﬂm © 4 1 3 2
4
bﬁﬂu!ﬂﬂftht Parliament. If not, must 21 3 4
\\ become a member of one of the &Y o
Houses within Six months. #ﬁm is common to Sardar Hukum 3??:311:
(b) Need not necessarily be a member \o hg]w-n Ram, Inderjit Gm &‘umuth
of one of the Houses of Parliament \@e\ Chatterjec and Scth Gﬂ‘“ﬂdaﬁﬂ ?
humm;u:lmmdunnmhﬂqﬁ\ (a) Mm&palkmgl\ﬂmm‘k&hihn
Lok Sabha within Six months. (b) They were Dcpm;.r Speakers of the
(¢) Must be a member of one of the Lok Sabha
Houses of Parliament prior to (¢) They were Pro-tem Speakers of the
; Lok Sabha
appointment.
(d) Must be a member of Rajya Sabha. (d) None of the Above
16 (Contd.)
et
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56 Wit ® weguin w1 frafe B Paffde o g @ ol @ e ARl AT
el ¥ P W oF Prfww g gfll § MY RROW RE W R

s wmen % ? o T P @eﬁ?
o )
\O
20Qa>£_i‘m’r A Rurs wwrd (5 \6#%
@ i A. o wmwf= @Qﬂﬁm PAHT
\.Q (I} hﬂ 1 Eqﬁ wTaT
(03 02 B. dfw #z-u=w 2. i e
k) 1 a awa s Nom
Nt
i Ce Aveai Prey amdm e 3, =l e
o‘}Qp Hiw E@
57. W ¥ Prafes-ayefa dow st AN &q,oé oS
el feesd o0 & 7 & D. ®ftgry & wwe 4.:{#4311%@;
& &
(a) WET &&\\b i m::—q LD :h-fg°6
(b) el g ¥ TR &
(c) Prafe=s smdm . L - &
(dy frzfin aftmrd A B C D
Aty ]2
oty % el E. Rl
(a) ﬁg@ WF %1 W HI i a T

W!ﬂ'&ﬂﬂla‘taﬂﬂ e #
e Bl W w1 wEE WA o o
%mwm Wi Tw, ﬁﬂﬂa
wmﬂﬁﬂa’ﬁlmﬁ

\\t’e

(by savwgs A B dwg & @ o OQ

o W EEW B, 99g 98 e m\\&
#® et Swawm w1 Fraffia sl
o W gEeE #

Prafe & = dot & Al o 9
w HeER w1 saws R

(d) THWEW & W BAT FAVEE B

(c)

17
frdrdr fr

- gae@ @ 7 \\t?
(u}im%maf
(b) 2 wrwawr & I 2
(¢) ¥ Frwew & FeowdA wwE A
@) v ¥ F w5 AW

(Comd.)
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61. The purpose of Adjournment motion in 64. Which term is used 10 describe 1he spread

; o of Buddhism from India lhm‘llﬂ;h Southeast
our Parliament 1s : _ Asia ? oS
(a) To allgw a di:-cuﬁim: on a definite (a) Social mobility N
W.wam public importance. (b) Cultural diffusion .Q&@%
(b) 1!90‘}&1 opposition members collect (¢) Ethnocentrism Q}oQ\
\o\oei:formltion from concerncd (d) Inmterdependence .\\&’9
K> inisters. in objective of the M mum Wages
Q'\\bz(r:) To allow a reduction of specific 6% I:n:ﬂs is to :Fgmﬁﬁ interests of
& amount in the demand of grant. the workers engaged in :
(d) To postpone the proceedings 10 check (a) Unorganized sector

the inappropriate or the violent
behavior on the part of somec
members.

(b) Organized sector
(c) Industrial sector

(d) o Agricultural sector
s

66. Which one of the Following expresses the

62. Consider the fD“ﬂWil:ft smu:n:n; Q&Q,of relation between normal price and mut.ct&._\o
regarding limitations on the authori 5

R priu ? X
the Indian Parliament : &@ (a) Market price is greater than ng@qli
1. Most of the important laws can price L &
introduced in the Parliament Witk (b) Market price is equal 10 %:iﬁﬁi! price
prior consent of the President. () Mm price tends 2»%'\ equal o
i ithi no price N

2. Parliament has 1o operate within the oL ,
jurisdiction earmarked by the (d) Market price is lesser than nomaal price
Constitution. 67. Consider the following statements about
i statements is/arc heritage : :

w“'h“‘-h ?ur ;‘;2\““ 1. Heritage is that which has been or

S may be inherited. '

@) Do s 2 2. Heritage is anything given or received

(®) @MIMIZ to be a proper possession.

{%@?j only Which of these statements is/are correct ?

d}k} 2 only (a) ;& only o
< (" 2 only -
63. Archacological studics suggest the theory «c) Both 1 and 2 <
' that : \OQ\“ (dy Neither 1 nor 2 Q\“b

(a) All the continents were settled with o° &@O
human societies at about the same liltgg-\\ 68. Bancassurance is : &\\ 1

(b) Farming socictics developed befSre (a) An insurance schenst Lo insure bank
hunting and gathering deposits .

{C] The carliest human evolved 1n the “}} An insurance scheme mluswtly for

(d) The wheel was in use in all ancient (¢) A composite rmﬂmqﬁgnng
societics both bank and insurance products

(d) A bank deposit scheme exclusively
for employees of insurance companics

18 (Contd.)
et
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61. ¥l WFT A wm AW g w w64 Wi ¥ QX eyl oft ¥ ftawa @
W & 7 m;‘t_ﬂ:ﬁfn 3:%1%“:%“:@
() wwmves @% wwer * P fre (8) mmm oon’o

eat 82 ¥ @
" (b) WETC » S
&]mﬂﬂ*mﬂmm (c) &
°Q®%amrn W WA W R I () woerx Prfam Q..\\E’QJ
) W Aty ¥ faire of wert ¥m 65 T sfafyuas 1948 w1 e
& (d) ®6 FTE F wpogw @ Raw srao mm;;ﬂﬁ ¥
M A ® By wad W (a) s i/
hiliel ob) dafsa &
Jc) Mo &

62. Wicdu www # wRwR & Wl 3 Eg“‘:;q:’m
weafPoy  Preaffn 665G TR g $ dre Gy
AR - TR T e Qg%%'ﬁ!?ﬁhaﬁﬁﬂq-mm,mg%

- \OQ\ 7 &0\)
I sfiwin wpeapd R w0 dae ¥ () TR e wrw e @ ails @
gmmm.{gmggh (b) T ¥ Ay Fv Ry @
o 2 (©) TTC Form o o syeew o
W &
z.mﬁ:::?ﬁm ﬁ?; (d) Wt Wwm e dwa A sw B
sheefm Ry . Buwe & wiw A FPy=fafea
S # ,_ﬁ?mm: w1 I
H‘H#m-mf&mwan? 1. ;&Tmﬂﬂs!i!mtmﬁm
(ujldhfzqiﬁ'l
2. Rywe, wifes v 3§ A3 oeh
;aﬁl&%mwmz ST W S d B o
(©) & 1 F“ﬂaﬁ‘“‘““"’“ o wh BF 7
K a) l
{g{;\\% 2 ¢ (b) oa‘ha ) )
(X1 AT 2 AN - =

R L ey e —— 0¢®6Jaaraﬂz @@m
(@) :;ﬂmwm‘ﬂmvhm <58 ﬁ_ﬂ.:ig?m ‘@\\femm
) R @ wurw A — e sl '

,F,'""“'g"m“' i ®) FTw e ¥ Vs wdwiE @
() uf wter @ Rar WA ¥ aR-wrre = ' v
® fawm g i g
W) ot e wEE ¥ oty W ogwE () Shwr Rt Jar, o &w dre d /
W B ® I ey woeh
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69. Inflation can be controlled by :
(a) lIncrease in Wages
(b) Decregse in taxation
(c) Ra&&'tinn in public ex
(d) &Wm the rupee dearer
&

Q
T{I.@\Q\fnnsiﬂd the following statements :

iture

73. Which of the following would be the most
useful source of evidence for rescarch about
the agrarian history of the sixteenth ‘"3290.
early seventeenth centuries ? &®¢g°
(a) Accounts of conlemporary l@%“:ﬂ

(b) Individual revenue recod

& : 25
‘,\Q&'\\ I g:‘; ;:ht::‘i']e{l ;‘;:"; “!E'd Dfmney (c) Chronicles and docurients from the
2. The effort was to know the Mughal court .
. the soil quality, the flora, (d) Records of the East India company
the fauna, the logical histories and
the cropping pattern. _ :
Which of these statements is/are T4 C‘?\E\““’“ the following
correct ? & Rowlatt Act movement
O
({;:; ; ﬂ; .Q&@ 2. Khera movement S8
< &
(c) Both 1 and 2 & 3 Chumperen N
(d) Neither 1 nor 2 &.\\ 4 Ahmedabad mill strike  &°
AN

71. Which of the following is a correct
statement about both the Mughal and
Ottoman empires in the sixteenth cemtury ?
(a) Both of these empires had powerful

navies that engaged European navies.

(b) Both ofthese empires expanded

throygh the use of gunpowder

s and extensive bureaucracies.

{c)\oq'ﬂol.h of these empires gave little

a@e monetary support to artistic and
&V cultural endeavors.

< (d) In both of these empires the majority

of the people were Muslims.

72. Which is the correct meaning of the term

‘rule of primogeniture’ ? W

(a) Favourite son inheriting his fathefs
estale

(b) Eldest son inheriting his father’s
cslatc

(¢) Division of the inheritance amongst
all the sons

(d) Division of the inheritance amongst
all the sons and daughters

¢\°

What is the correct n:twnulaz@@g! order
of the above mentiogg‘&b Gandhian
movements 7 >

(8) 3,4, 2and |

b 2,31 and 4

(¢c) 3,2.4and |

(@ 2.1,3and 4

75. Which of the following can be termed an
infilistructural bottleneck in thg
'%%&vclupmmrL of India’s economy ? OOQ'QO'
> (a) The federal nature of lndi;@@olhy
(b) Existence of 2 llrg%eﬁ"i\uielj of
financial inslimtim{%,\\é
(¢) Delay inthe nclmu:ﬁ\stﬂum of justice
relating to land acquisition and
displacement
(d) The volatility of the Indian rupee

(Contd.)

sl
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73, dresd el e spredt weht ® amw

iifﬁﬂiﬂﬁmﬁiﬁiﬂiiﬂqﬁmﬁliﬁﬂgﬁ
Preafi 3 @ 1w wmes-vi
sftrs Fwanh gon 7 0,5\0&

(a) wwerl WP # faru@@
(b) =RrTE Teer wiReR

. gehed w@
& fawge wiew fs (€) T T & vy s g
2, w e, P W FER, e Ra wodt # shdw ’
Wi, ST e T -SRI @)
W AAA W W9 a9
@R § fA-E/R wu w8/ 7 ._Mfaorm“ﬁmm:
(a) wad | - o\?'Qi’. Mz e
(by Faa 2 &'z’(’é o
o) 1 sht 2 2 &2 agr wigwEA oon,
(@ 7@ 1 ah2 \\&@ 3. warem ,0&7’%
: 2, —f.
1. A F pre A SEEa SaeE 4 <
mtuﬂﬂ%itm-ﬂn mmm@mw
wuT w6 R 7 iy U N
(a) ¥ AN wEwEl g wilkrmeh
A o) P girfn A (@) 3,4,2 :T 1
mwﬁﬂm () 2,3, 1 A 4
o P
i & gwm ¥ @ DAl o) 3.2,4 AT}
N 3 Rra R @ 2,1,3 f 4
© & AN R X wEwews
& TarEl # AT AEE W
) v AN g ¥ wges @ 75, Prgfiie ¥ R, s 9 e Fo
s S ¥ s wermR Aedw wpt
*° %
p.mﬂm'mmﬂnaﬂm QOQ\Q e 8 7 \o‘i\(\b
t? &4

() Mﬂ%aﬁﬁmﬁmﬁ\!ﬁ\\
s IR yEdE 9

(b) dwmma w9 8 av R § w9 9w,
w TR WS A

(¢) Ierafiee 1 @it 21 & v T

(d) seraftere & ot i S gt @
i qzarw

21
frdefefe

{.}mﬂmm?\@eﬁmﬁﬂ
(b) it Pftem & 8w weae =
wftaea

. (©) @mmmam,

e # 0
(d) Wi wog @ sftu

(Comd.)
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Next Four (04) items are based on the passage
given below :

It has been rightly said that we spend the
ﬁg" half of agﬁ‘liﬁ ttﬁingm uni:c';mr?xmd the
older gencrygiion, second 10

g the younger generation. Ywﬁ%
al somewhat exasperated with age,

waysde
and has always been suspicious of youth.
\ ﬂmr natural ebullience and impatience,

& tynfyoungpeoptcmlmmmmﬂﬂ
*leam on their own mhnlhmbglgi&nd by
the experience of their elders. The le,
being more at home with words rather

with_ action, often make moiscs about the
problems of youth. In every generation, old
men are found shaking their hoary heads and
wuinsnuaulgicnhuutmcgmdulﬁdayswhm
young people knew better and showed due
reverence 1o age and tradition. In all ages,
whenever they have over the ways

79. “And yet the world gocs on"—what is
the tone of the author in this statement 7

(a) Optimistic oF
(b) Pessimistic N
(¢) Cynical : \Q&Q’Q"

(d) Critical ot

6®
Next Four (04) items are based ghh: passage
&

Who deserves more severe punishment ?
Dnewhngimhﬁbesorﬂtoncwhutakﬂ'
them 7 The corrupt practice of bribery is possible
because there is someone who is ready 1o pay
nmyfnrilkegﬂmhnmdndﬁnninhinhm.
Dth:ngiu.hnwmmdmmdtbﬁb:?m
bribgiver tempts others 1o be corrupt and

2 demoralizes our national character. Even

@&m Churist, fearing the power of temptatione™

of youth, they have forescen mothing but,® had said, “Lead me not into templation’sRA

ruination staring the world in its face. And
the world goes on. Every gencration
from the spontaneity and cxuberance of Youth
to the caution and of old age, and
then yields place to the next.
76. What. according to you, is the theme and
the idea of the passage ?
(a) Generation gap
(b) Problemg of the youth
(c) mth of the older generation
idy 'Nn@é) of the above
.\0&7’
77. Tisolder generation is suspicious about
’\\?Bc vounger generation as the youngsters
& ek !
(a) knowledge
(b) experience
(¢) patience
(d) time

S

.\\be

78. The author seems 1o be mpponiuenﬁ‘.%c

idea that :

(a) the people of the older generation
are men of words rather than action

(b) the younger gencration is impatient

(c) the younger generation today is much
misunderstood and more maligned
than it deserves

(d) none of the above

bribe-giver is generally moncyed and inflyéhtial,
while, on the other hand, one who dmands
bribe does so because of his poor ¢f
and compulsions. Hence, one gives bribe
should be awarded more sesere punishment
because he exploits the weakness of the poor.
Giving and taking bribe happens in & more
vicious circle which can continue only because
of money. Naturally, therefore, it is the affluent
that grease this wheel of corruption and should
accordingly be dealt with firmly and suitably
punished 1o put a siop o this nefarious practice.
80. The author fecls that the practice of bribery
is there because there are willing bribe-

gigers. o
@‘ﬁ} True OQS'O
& () False &
oF (c) Partially true &

(@) None of the above o
81. Who, according to ﬁtgé’i:i\utlwr, is more
responsible among the following 7
(a) The bribe-taker
(b) The bribe-giver
(¢) The wilness
(d) The general public

(Contd.)

wrfrde
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82. Who.mudingluthmhot.:hnuldbc
i more severely ?
(a) The Police who allow this practice
Jb) The ribe-giver
(c) T¥ person who demands bribe
{dg@&ﬁ’mw of the above
)

33@%, according to the author, is more
&&-.\\ corrupted ?
(a) Our sysiem
(b) The person who demands bribe
(¢) The affluent who exploits the
weakness of the poor/s
(d) The of bribe who is left
with little choice
4. A judgment made before all the facis are
known must be called :

(a) Deliberate

(b} Stﬁibl! # \be
(c) Premature ¢ &
(d) Harsh -

85. Which of the following pairs of words
expresscs the same relationship as in
ELUSIVE : CAPTURE ?

(a) Sensible : decide
(b) Headstrogg : controlled
(c) Ebmi&a"’mmh
(d) Pgbﬁuiw . convince
86. Chggffe

'Wword :

& [ wish 1 could pursuc my studies.
(a) Discontinue -
(b) Abandon
(c) Restrain

1o the meaning of the

N
(d) Deter » Nd

R
87. Which of the following options is ‘the

the word which is the nearest

R
&

£8. Itis said that, in order to control inflation,
forcign inflow neceds 1o be sterilized.

Sterilization here refers to : oF

(a) Ensuring that counterfeit currencys™
does not enter circulation, _Q&?’%

(b) Ensuring that black mnge? is
accounted for. .\\&"

(c) Withdrawing cquiu@‘l%nl local
currency 1o maintain a desirable rate
of exchange.

(@ Compliance with import-export ‘
regulations.

89. HM(%ARD means :
(g;f National Bank for Agriculture and
> Rural Development

& (b) National Agricultural Bank and Rural &%

Development &OQQ
(¢) National Agricultural Board and(Bﬁﬂ
Development 5
(d) National Board for Agﬁﬁ\@mﬂ and
Rural Area Developmesi

90. In which of the following Acts, housing
facility is @ statutory provision ?
(@) The Plantations Labour Act, 1951
(b) The Factories Acl, 1948
(¢) The Mines Act, 1952
(d) Nonec of the above

91. Consider the following statemenis
regarding human development ©
1 ©'Skills may be hamessed in the society,S
& through participations of NGOs.
2. To fill the internal gaps in the gydtem,
reviews and intemational cxgriences
can prove 1o be heapru\w

which of these su%gﬂcnts is/are

closest in meaning fo the werd correct 7
CIRCUITOUS 7 (s) 1 only
(a) Indirect (b) 2 only
() Confusing (¢) Neither 1 nor 2
(6 Kaoay (@) Both | and 2
(d) Cyclic -
(Comd.)
ot
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82. Who, according to the author, should be
punished more severely ?
{a) The Police who allow this practice
(b) The yﬁbc-gl.w:r
(<) Th@ person who demands bribe
(d) &ﬁm of the above

83. M:o according to the author, is more
\&’/:armptad 7
& {a) Our system
(b) The person who demands bribe

(¢) The affluent who exploits the
weakness of the poor

(d) The supporter of bribe who is left
with little choice

A judgment made before all the facts are

known must be called :

(a) Deliberate

(b) Sensible

(c) Premature

(d) Harsh

Which of the following pairs of words
expresses the same relationship as in
ELUSIVE : CAPTURE ?

(a) Sensible ; decide

(b) Headstrong : controlled

(c) Elastic : gifeich

(d) Purwag&c convince

Chomecﬁ'le word which is the nearest
to the meaning of the underlined

85,

W -
XSwish 1 could pursue my studies.
(a) Discontinue

(b) Abandon

(¢) Restrain

(d) Deter

Which of the following options is t!ﬁ

\\be
87,

88. w FW W B F e ® O #
Py e wwale & P @ seemeesg®
!lﬁfﬁﬂmmw’l‘mmfﬁ%&‘?

Ly oy RAfmm o & W F°
foe qew il gt w1 AT S
(d) sma-Frafa Afro = s son

89. NABARD & w1 sd § ?
dﬁimﬁmmm&

(ey @ wiefrum,
(@) svfwm A ¥ B A

arre B & ot 8§ Preafafee sa)
T e Wi -

I. NGOs # wewifvm & Wwdl
oni’mi’nmmmh
af’?‘! mamm:ﬁsﬁt
mmmm&mﬁw
mmamq@
@A 8 w8 seaia 28 7

91

e

\0Q

closest in meaning to the word (a) *7 |

CIRCUITOUS ? &) w2

(2) Indirect

(b) Confusing (¢} 7 @ Im,; @ 2

(¢) Crooked Ay 13AT2 A

(d) Cyclic
2 (Comd.)
R
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92. Which of the following are the main causes ~ 95- Structural Planning refers 1o :

f growth of per capila (a) Centralized planning.
:L::Hﬂ::;wﬁ: ; " (b) Lnjrmg down broad goals lngy
1. Sate of capital formation strategics.
(¢) Changing existing umituugﬁu or
2. gﬁgb level of fiscal deficits creating nEw Ones. \o
35\0‘? High rate of growth of population (d) Fixing flexible Wﬂﬂ’ \\6
\bem 1,2 and 3 & .
& 96. Three States which have Human
S RDrismas Develo t Index (HDI) higher than
| and 3 only pmen
) China are :
(@) ;2:%md 3.only (a) Kerala, Maharashtra and Madhya
Pradesh
93. If the RB] adopts an cxpansionist open (B Kerala, Punjab and Maharashtra
market operations policy, this means it o¥¢) Maharashtra, Madhya Pradesh and
will : & Punjab R
(8) Sell securities in the open market. o®  (d) Kerala, Madhya Pradesh MG:%Mt
(b) Buy securities from M\Mf’z S
holders. & 97, Consider the following mmﬁlenls in
(¢) Openly announce to the market that respect of the Compuullg\\mﬂ Auditor
it intends to expand credit. General (CAG) : o
(d) Offer commercial banks more credit 1. Reports on the accounts of the States
in the open market. are submitted to the President who
33 shall causc these to be placed before
94. Which of ;iu: following is NOT a dhe Parliament.

recomme)@dauu-n of the National

Coopeiil Board fi 2. CAG is appointed by the President
g&ncco::“mﬂve f;d:ngmlmnd: of India and can be removed only on
P'-{

7 .grounds and procedure similar ln
ng .
\\m Every Society should have a definite & those of a Supreme Court Judge, s*
programme for total pooling of lands. 6«»3 The form in which accounts Q? mc
(b) Financial assistance should be given &\OQ\ Centre and States are u:@wbh!pl is
only for purchase of new land. Nd prescribed by CAG W
(c) Smc Gov:rnmcms should gﬁ‘n Which of these statemeg are correct ?
socicties.

(b) 1 and 2 only
(¢) 2 and 3 only
(d) 1 and 3 only

(d) Joint farming must be practiced with
respect to all lands of the society.

26 (Comtd.)
o ftk

Downloaded from : http://www.developindiagroup.co.in/
25



APFC (EPFO) EXAM 2012 QUESTION PAPER & ANSWER KEY

92 Feafafem ¥ @ =R, wrw A W 95, mmmmmn

witn omw o 4 wafe-a0 & e Fmow (a) FdF @ o
” 5 (®) R @ g s Py
ﬁfﬁﬂfﬂﬁmn - won e
%ﬁ%mﬂﬁmmm {cjhmam&nﬁmw{
AéQJ Wmsﬁﬂ" “WW
d) oda
‘&Q.\\" T (@ well # Profe acon
(b) #=w | 2 96. @1 vva, Rere s R gusts €
(c) #=w | M3 ® aftw B, ¥ ¥ ¥ 7
 Ad ¥ 293 (1) #@ Wz i wewdn

93. @R RBI w& fwererd wan womr whem ,®¢°°Q§:; ;mmwm;mmme N

#rﬁ'fﬂmt @ wE e b S &
04 \6e 97. Frows-mdrarshers & wod i‘g@rﬁlﬁa&&
{ljuﬁgmﬂﬂ@miﬂm& m“wﬂm Z&
(b) Mesrewrd wreet ¥ s # wlim Lo v s R 9 TR
(¢) "t ¥ wdem Nfe wtm & aw ® ana wwE fea wom, @ 3T
= R st wew 8 ¥ug ¥ v wemom
Ad) =¥ woT ¥ Afew IR D s 2. Prbas-mieahes W s W
mﬁgmﬂm R Prgw s 8 s 38 daw
Ry w9 @ owf R R
.94, m%ﬂﬂ!ﬂﬂﬂmﬂfﬁﬁ wem w wwar & Ry el we s
mwmmmgm R & Ivwem ~owww & =l
Tﬁvmvgﬁmﬁﬁmﬁﬂw N ser e # R
St & 7 mwemm*mﬁ-@

(@) ¥ TN W g ® wpf wehem \&’b""mﬁ'mmn%
® fau ghiftes sedem @ wfge e4°Q mﬂmf&&amg&\
O P T R whe # R ﬁ#&unq.amms\\é?

\,

wif® wermm & wrft wite ‘& (@ 1,243 <
(c) v o W Rrows wegml @ (b) =@ | M2
gTewfter # saftes 3wt Ac) ®=m 233
( "= & wrd i o1 wew oA (d) #aw | &3

B WaE ¥ s W afe

-4 (Contd.)
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0%, Which of the following is NOT one (:‘lf
the features of the Special Ecnnmfur.
Zones (SELY being set up for promoting

C
upoﬂs@\?‘
{a].od@greign workers will be allowed free

\\e}& entry without Visa restrictions.

100, How does National Rural Li?-elihuu-d
Mission (NRLM) scek 1o improve

livelihood options of rural poor 7 (9'~‘°
I. By setting up a large number ﬂi;éw
manufacturing indu:tri;g,@ and

agribusiness centers in r:tgﬂ areas.
9. By strengthening Sell Melp Groups

\ -
i skill
¥ : - (SHG) and prg¥iding
,gé'\\ (b) The SEZ arca will be 'lmle:il as w : 3
foreign territory for trade operations, & d‘ﬂy" P"m',’m” el di:_y:l
dmt:ﬂ.l‘d “riﬁ- 'pump-sﬂs -nd mitl‘ﬂ il'ipi’ﬂn
(¢) There will be no routing examination equipment free of cost to farmers.
hycmmm-nhaitimofimpmﬂﬁw {!‘3 1.2 and 3
cargo. ‘ \}Q@ﬁp 2 un::r
(d) No license is required for import into &@0 (¢) 3 only -
the zone. \o\o (d) 1 only @\’Q'
N &
09, Match List1 with List1l and selegesthe %
. ing the code given below &
cormect answer using 3
the lists : &
List-1 List-1I
(Chairperson) (Issue)
A.D.M. Dharma- 1. National Corpo-
dhikar <,°"\° ru'te_ Govemance
N Policy
8. Ang*Kakodkar 2. Air India—Indian
?>0Q\ Airlines merger
& B.N. Srikrishna 3. Indian ’
&Q& > High Level Safety 90.\“ o8
Wwﬂu‘ OéooQ QéOQQ.
1 re} 4. Financial Sector & \Q&q,
D. Adi Godrej B &\OQ §
Commission % &
| & &
Code : N
A B C D
@ 1 3 4 2
by 2. 3 4 A
{c) 1 4 3 2
@2 4 3 1
28
i
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100. =g ooy e Bem (NRLM), wd
ﬁﬂﬂ%mﬁwifﬁﬂgmﬂﬁ
e ®Tal ® 7
1. Wﬁi’fﬂwﬁnﬁa@ﬁh

}ﬁﬁwﬁﬂaﬁrmﬂ'@ﬁmﬁﬁ
\6"’

.\\beib} ar-gaEE, qEel T wEe @ 2. wwEwa g {smg,] W woE T
W = AT 3. Tﬂﬁw.m.mwm
() W@ s Prafe serimm (w0if) = wlﬂmw‘ﬁﬁiw
dmmeew wiefad oo =y h AT
v =3f # sooft ’{ég e
(d}wh{ﬁq]aM%Mﬁi; Q)mz -
argd= sravaw d o .(\@% (c) 3 o
Q}OQ\ (d} m I Qéo\)Q
b@\ . 6\'2}
9. g1 &1 qhu B Ay g ?>on
giadlt ® AR Ru w2z w1 wm w7 w@h .\\&,f
It g &
g1 g1l
g (9%}
A.rom, aaffesrd 1 w=m P wies
= i
B. aPra wpfywy 2. v (Ru—fRaw
('2\08? AT hﬂ'ﬂ'
c"f)!&o"- o 3, wiall W g
,QgQ\\ m W Hﬂlﬁ‘l <_,°"® O\Q
D awfr et 4. Prefrn drww Promd) & &
qu andm Q\Q&"’% @\“&&
Ll e&\o 4&0
R C D @'\\6 @'\\66
(a) 1 3 4 2 < &
v 2 3 4 1
e 1 4 3 2
@) 2 4 3 1
29
+* o fr
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Examination:APFC(EPFO) RT-2072 |

o N
oo'vr
M

Q'

__ISeries: A [General AR i
| Seres: ility Test-S-BQG-J-M-H&U
_Max. Marks: 100 | |Exam: 23.09.2013 | .
@ﬁ\o@jltems to be taken for scoring: 99 ’ «@“\\6 '
é&.b .-!NO' of items droped : 01 'E
rglg 161 c 31 B 46| C [61]C |76/ C o7 C|
= 17 C132 | AJ47] A J62[A[77[A 921D
% !c;mrc 33 /B|48] X [63/B|78/C| 93 B
r: 2119/ C| 34 C[49°C [64[B |79/ AT 94 e
6'2 gsg%g«gl& A [65|D[80/D| 9% | B
I BI51] D [66] A [81] At06 1B
.;,g 221 B |(37)| <]52] C [67]D[82| D97 A
= 23/C |38 /C|53] A [e3lB 83 A/ 98D
e 24ueA 139 | CT54] A [69] B (4] CT o9 B
0,BI281C|40|B55] D [70] G35/ A [T001 A
11 A726| Cl 41 C 56| A 71| Cl88/ D
120A 127/ C[ 42 [ B[57] D 78D sl Sl
_:z-ciza A|43|D.[58 Bs73| A[88] D 7
B129/C| 44 [ A[59] £ [7alDlsglc
15]A[30/A| 45 Cleat B 75/ B [90| B
| 1
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Examination:APFC-(EPFO) RT-2012 |
_Series B |General Ability Test-S-BQG-J-M-HBL
Max Marks: 100 | |Exam: 23.09.2012 |

i lféms to be taken for scoring: 99 Q\\&”& |

L \&1!\101 of Iltems dmped i!31 1

: |
1/ C|16]/ D] 31 <l A [61]B 76| A[ 91 A
2| A7/ C 132 Ad47| D |62|B|T7[C[92]C
3|A|18/B|33|A|48]. Af63[C|78] Al 93 Al
4/ D19/ C[34|BJ49.sD [64]|A[79|D| 94 B
5[Al20/D[35 B 58] A [65/C |80/ D| 95 A
6/D|21/B[36;C[51] C [66]C[31] ALSs |B
7 | B|22|C 37{0 52| A |67({C|82|D|97]|C
8 Cl23/B|{38|B|53| C [68]|B|383| B [tesED

'9/Bl24 B/39|A|54 B [69]C82a/Bl9g9 B

10/ C|28] A 40 |A |55 A |70/ B (85| C 400

11/ A926/D| 41| D[56| C [71|D|86|C|

126B 27| B[42|B[57] C |2|A[87ID| |-

13/ B 28] A | 43/ C |58 gé‘ 73[Cl88[A| &

14/ D|29| B[ 44 [ A[59|sC [74[C[89]C |+

15/C |30/ C|45,;C|66] C |75/ A|90| CY
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| fExaminatioh:APFc-(EPFO} RT-2012 | |

___Series: C [General Ability Test-S-BQG-J-M-HEU
|

LMk Marks: 100 | [Exam:23.09.2092] « |
.q €ms to be taken for scoring: 99 | @’\& |
& [No. of iltems droped:01 | T | |
rL*l 50115! B ! |
| | 31/BJ46| B [61]B
2[A[17[C | 3278 [47] B Jo2l ¢ {171 BT :
3/ A[18|B| 33 C |48 X |63/ al78| B o3 &?'i
(4. D[19]D |34 [C[49F D (64| C 70 C 941'B
> |AJ20(A[35]D 80 B |65/ B 80 A 95 | A
6/D|211C |36 [A (51| A |66/ C g w“\\gsgs
L7 1B1221c]37|D|52] ¢ |67]C[82[A 97 TC
8/Cl23|A[38|C|53] B |63/ A 83D
9 1B 24A 139 |D[54] A |69 Al54| Al 95 51
_‘ig}:_q@s Cl140 | Ci55| C [70/|B 85/ D 100
1 &126(A141[B[56] C |71 B |86[ A o
12r8127/ D42 | C[57] € 72| clisTlc
13/B 128/ D[ 43 [ D 58] 6|73 Clss| A= —
141 C 29| A | 44 | B[59]°C |74 B 89 C I
15/C130/D[45]Ce6] B |75/ Als0lcT
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Examination:APFC-(EPFO)RT-2012 | | 4
Sertes D | General Ability Test-S-BQG-J-M- HBU»Q
MSix. Marks: 100 | |Exam: 23.09.2012

__sfitems to be taken for scoring: 99 I
& INo. of items droped : 01 ! 3
\ { ;
1/D[16]/C|311Al46] C |61|A|76/B|91|D
2lclir|ci32|C|47| © |62|D|77{C {92 | A
3|D|[18| A} 33| A |48 y’ss Cl78/{C|93|D|
41C|19]/C|34[D[49]°C [64|B|79|A| 94 | B
5|B|20]A|35|A|S0] C [65|A|80IA| 9§ C
651Cl21/B|36|D|51] B |66|C|81| B 96 | B
7/Dl22]A1371A[52] C |67|C|82|B|97 |C
8! B B|[38.C|53] B |68/C|83|C |98 |A
J9/Cl24;C 39[A[54] D [69{C|84/C|99|B
B.95 0140 |D|55 A |70][C[85|B[100|B
Bla1|Al56] C [71]BI86[A
| 42 | D |57 C*s}? B|[87] A
| D|43 B|58| ASl73|Cl88[C| &
Bl 44 | B|59|SA |74] A[89]A| &
cl45|C|ef] C {75/ C|90] Ay
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